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1. What is frequency-dependent encoding? (10%)

2. Describe how the concept of Hamming distance is used to produce an error-correcting
code. (10%)

3. Describe the bootstrap process. (10%)

4. Draw a sketch showing how the following HTML document would appear on the computer
screen when displayed by a browser. (10%)

<html>

<head>

<title>This is the title</title>
</head>

<body>

<h1>Mud Art</hl>

</body>

</html>



5. As an encryption system, what is unique about public-key encryption (that is, why is
public-key encryption so named)? (10%)

6. The following procedure was designed to compute the largest integer whose square is no
greater than N, where N is assumed to be a positive number. (If N is 5, then the procedure
should report the value 2.) Find and correct the error. (10%)

procedure squareroot (N)
X « 0;
while (X? < N) do
(X « X +1);
report the value of X

7. Explain the distinction between global and local variables. (10%)

8. Why is the straightforward “goto” statement no longer popular in high-level programming
languages? (10%)

9. What is the result after executing the following program. (10%)

#include <iostream>
using namespace std;

int main ()

{

char sym = 'C';
char *q;

g = &sym;

cout << *q << endl;

return O;

10. For a programming language, what is the distinction between a type and an instance of
that type? (10%)



